Adjusting Entries for Accruals
Accrued revenues are revenues earned but not yet received in cash or recorded at the statement date (interest, rent, commissions)

· Adjusting entries are required to show the receivables that exist at the balance sheet date, and to record the revenues that have been earned during the period.

· Prior to adjustment, assets and revenues are understated.

· The adjusting entry will increase (debit) an asset account and increase (credit) a revenue account.

Accrual for Revenue earned:
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After the adjusting entry is posted, the accounts show the following: 

	


On November 10, Pioneer receives $200 cash for the services performed in October. The following entry is made: 
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Accrued expenses are expenses incurred but not yet paid or recorded at the statement date (interest, salaries)..

· Adjusting entries are required to show the obligations that exist at the balance sheet date, and to recognize the expenses that apply to the current period.

· Prior to adjustment, liabilities and expenses are understated.

· The adjusting entry will increase (debit) an expense account and increase (credit) a liability account.

Calculating Interest Expense
The amount of interest that has accumulated is determined by three factors:(1) the face value, or principal amount, of the note;(2) the interest rate, which is always expressed as an annual rate; and (3) the length of time that the note is outstanding (unpaid).
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	Illustration 3-5 [image: image11]
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	Formula for interest


The formula for calculating interest and its application to Pioneer Advertising Agency for the month of October are shown in Illustration 3-5. 
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The accrued expense adjusting entry at October 31 is therefore as follows: 

After this adjusting entry is posted, the accounts show: 
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Since this is a three-month note, Pioneer Advertising will also need to make an identical adjustment at the end of November and at the end of December to accrue for interest expense incurred in each of these months. 
After the three adjusting entries have been posted, the balance in Interest Payable is $75 ($25 × 3). The following entry is made on January 2, 2009, when the note and interest are paid: 
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Accrued Salaries

Some types of expenses, such as employee salaries and commissions, are paid after the work has been performed.
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After this adjusting entry is posted, the accounts show the following: 
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The next payday will be on November 7. The payment consists of $2,000 of salaries payable at October 31 plus $2,000 of salaries expense for November ($100 × 5 working days [for the period November 1−7] × 4 employees). The following entry is therefore made on November 7: 
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